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QUESTION 1

In a computer system, what can be collectively referred to as data? (multiple choice)
A. Number

B. Voice

C. Graphics

D. Display

E. Letters

Correct Answer: ABCE

QUESTION 2

When a frame is forwarded, it is determined whether the Ethernet frame can be forwarded from the port by checking
whether the VLAN tag carried in the Ethernet packet is the port ().

A. Allow to be forwarded from the port.
B. Allowed labels

C. Default PVID

D. MAC address correspondence

E. STP disable status

Correct Answer: A

QUESTION 3

In STP calculation, if the root path cost of two ports of a non-root switch is the same, which one is the following
description correct?

A. Both ports are root ports

B. Compare the switch identifiers of the upstream switches connected to the two ports. The smaller the priority, the
higher the priority.

C. Compare the port IDs of the two ports, the smaller the priority
D. Compare the priority of these two ports, the smaller the priority

Correct Answer: B
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QUESTION 4

What is the broadcast MAC address?
A. FF-FF-FF-FF

B. FF-FF-FF-FF-FF-FF

C. 00-00-00-00-00-00

D. 00-00-00-FF-FF-FF

Correct Answer: B

QUESTION 5

What is the packet that the STP downstream device uses to notify the upstream device that the network topology
changes?

A. Agency BPDU
B. TCN BPDU

C. Discover BPDUs
D. Reverse BPDU

Correct Answer: B
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